=@, LOCTITE 243

)

FS 650e/6 08 <2008><EU><2503H4>
IGNITION SYSTEM
7146

=

Y ——

LOCTITE 243,
Pos Part Number Description Additional Text Quantity
2 80030002100 IGNITION COVER ALU 04 FE, FS 1.00
4 80039002050 SUPPORT FOR STATOR WIRE 04 1.00
6 50339006000 IGNI.COIL KOKU. 1G5127 1.00
10 80030040100 IGNITION COVER GASKET 04 1.00
14 80039004000 STATOR HUSABERG FS/FE 04 FE, FS 1.00
16 80039005000 FLYWHEEL HUSABERG FS/FE 04 FE, FS 1.00
23 59030023000 dowel sleeve 6x8x11.5 2.00
30 80039030100 RUBBER HOLDER FOR CDI 05 1.00
31 82039031000 CDI UNIT 650 05 1.00
34 59039034000 pulse generator KOKUSAN 4K3-A/ 1.00
43 59039093100 SPARK PLUG NGK DCPRSE 03 1.00
50 58439090000 SPARK PLUG CONNECT. 03 1.00
53 0912060083 AH collar screw DIN 912 M6x8 1.00
55 0015050163 HH COLLAR SCREW M 5X16 WS=8 2.00
60 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 1.00
61 0015060203 HH COLLAR SCREW M 6X20 WS=8 0.00
62 0015060253 HH COLLAR SCREW M 6X25 WS=8 1.00
63 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 2.00
64 0015060353 HH COLLAR SCREW M 6X35 WS=8 LC4 ADVENTURE 1.00




